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Exercise 1-05
m 1 Change the following to improper fractions.

P 1 4 2 7 3 3
. ¥ a 1-: b 3= c 2= d 5; e 7= 22
SkillBuilder = d 3 8 : §
214 g 15 ho12} i 73 i3] k 53 1%
Mixed fractions ; i 1 4 2 1
i 4 1 gl £ L
m 333 n 35 o 172 P 9z q 66_1 r 67
. 1 -3 k) =2 - . 3
5 45 i 73 u 21 v 33 W 4§ X 6ﬁ
m 2 Change the following to mixed numerals.
a ! 2 . 13 2 10 u
a 5 b 3 S d 3 e = 3
13 3l ;2 . 35 . 69 47
g 7 h 3 1 3 i3 k & 3
ol 51 59 43 63 32
.74 77 14 . 22 B .M
¥ % B L V'3 Y 1o X 0
m 3 Complete these pairs of equivalent fractions:
Y. Y. - E = ....D -2.. — u .'3. L g !_1 :g o ﬂ == g
SkilBulder SR P3Th c BT “iTa RT3
b ’
Equi'l'ﬂl:ﬂm . 18 (1] 66 4 24 3 D 7 D
froctions Kk =9 ;] 2= A n 2=3 o =2
g 0O 12 O 10 O 1 o 50
6_3 I ol 15 _ 30 5235 :_0
P 570 9 555 T $ 570 t 35%
4 Complete these pairs of equivalent fractions:
5.0 36 _ O ; 40 L1 " n_0 2 _0
ol i b %~ "W s d %° 1 w5
T & 5673 T 00 0 ] 7550
15 . 5 ) L 8 _2 80 _ 10
k (T ! £ 0O w0 ol B | ° %°0
30 _ 15 L 36 _ 12 , 35 _ 1l 60 _ 0
P 2350 9 %= 3 r ®#°0 = T t 251
5 Simplify:
9 30 .36 100 _45 16
2 b -5 ¢ u d % € "5 30
144 24 . 200 A 95 72
g o h 5 ' T k -1& i
56 240 22 33 39 24
w2 n " ° P 1 5 70
w 6 Write a mixed numeral between:
a Sand 6 b 2and3 ¢ 9and 10.
7 What whole number could be placed in the box so that:
a Q has a value between 6 and 77 b % has a value between 3 and 47
c % has a value between 2 and 37 d % has a value between 4 and 57
¢ Q,; has a value between 7 and 87 f -E] has a value between 8 and 97



A 28 B 25

1f O has a value between 6 and 7, the number in the box could be:
4

b If % has a value between 3 and 4, the number in the box could be:

A 30 B 36

¢ If % has a value between 4 and 5. the number in the box could be:

,ﬂ;l-f-i B 22

d If & B 3 has a value between 2 and 3, the number in the box could be:

A 4 B 10

e If Z_DE has a value between 7 and 8, the number in the box could be:

A S B 3

f If % has a value between 2 and 3, the number in the box could be:

A 10 B 16

9 What whole number could be placed in the box so that:

a 5 has a value between 3 and 47
b % has a value between 2 and 37
C % has a value between 4 and 57

d Q has a value between 6 and 77
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Answer the questions to decads the puzzls.
e (6+3)+[2+1] 2a-8+1
n B+dxT=+n 8x]ll+3-23x4 O
u 16+ 26+ 5= 12 BI-28ixg a
Yy _TrE-ie 1+ {2+(3+[4+8]1xa) r
t -ECI-—'?!{6+$J+1 100+ (2% (B+(12+3) +2) a
e -3—[3+f4~2u1}+ﬁ+ L3B+4+2)+ (1B +3) t
b'm+{sxu+4—na; rm~r1a+n+'ﬁa—n:-a"h
u-a-sxg B+Ix4~-10+8 o u
e BEX(B=B3X2)+7T 3+ {(4=1)x8} -8 s
t _10-5x2+3 | 1+zxzraxs-s n




